K.V.M. GLOBAL SCHOOL PAI (KAITHAL)
ENTRANCE TEST (Set-C)

4, '37T:' 3G IR eIl AsE § -

(A) 37eT9eT (B) 3T¢TERT (C) 3reerfa

5. 'golTEr e H Ycdd BIel -
(A) g (B) 3 (C) 3F

6. 37T 2usg fohdel U & Bld & ?

CLASS 10th
TIME: 1:00 HOUR MAX. MARKS: 50
Student's name:- Father's name:-
Contact no. Applied for class:- Medium:-
Previous school name:- Village:-
fecr

1. '3TSNEGeT H il T AN § -

(A) 3cafiema (B) &faT] (C) gy (D) HHURT
2. '9THT Qe § &elr fIAVIT § -

(A) & (B) anfara (C) sfew (D) Famad
3. "I HT GG AT & -

(A) e (B) &d (C) STel (D) Ferer




(A) 4 (B) 5 (C) 6
7. §ATE & fohdel #g § 2

(A) 4 (B) 5 (C) 6
8. '3UUT s T AT 2reg ¢ -

(A) ddoT (B) fador (C) TIgoT
9. A & fohdal &g § ?

(A) 2 (B) 3 (C) 4

10. 3TAeTETg 9of § -
(AT, & (B) 3, & (C) 31, 3
ENGLISH

11.We __ follow traffic rules.

(A) should (B) can (C) must
12,1t raintoday.

(A) may (B) might (C) will
13. Ganga is holy river.

(A)a (B) an (C) the

14. People are having a party in the flat

(A) below (B) above (C)on
15. The patient before the doctor came.
(A) died (B) has died (C) have died

16. Last night, she asong.

(D) 7

(D) 8

(D) FHJOT

(D) should

(D) none

(D) had died




(A) sing (B) sings (C) sang (D) sung
17. Rajbir never his mistake.

(A) accept (B) accepts (C) is accepting (D) none
18. CBSE Board the matriculation result next week.

(A) announce (B) announced (C) willannounce (D) none

19. He said," open the door, please."
(A) He said to open the door.
(B) He requested to open the door.
(C) He said that please open the door.
(D) none of these

20. He is writing a letter.
(A) A letter is being written by him.
(B) A letter was being written by him.
(C) A letter is written by him.
(D) A letter will be written by him.

MATHEMATICS

21. Which is the smallest prime number ?
Y BT HAGT HEAT Hied AT § ?
(A) 1 (B)O (C)2 (D) none
22. Which is the smallest composite number ?
I BT ARSI T&IT FT § ?

(A)1 (B)O () 4 (D)2




23. Which of the following is a rational number ?
SofH ¥ i T F&IT IRAT § ?
(A) (B)O (C) v3 (D) none
24. Every rational number is a real ?

Toft aRET FEar aredfas 9&ar gidr g ?

25. Which of the polynomial is linear ?

SaH A FlT &1 WS 9g9e 82

(A) x + 1/x (B) v2x + 1 C)x2+1 (D) none(&s &)
26. Which is the degree of the x2 + 4x3 + 3.

X2 + 4x3 + 3 HTETT PieT &Y & ?

(A) 2 (B)1 (C)3 (D)0
27. Which is the coefficient of x2in X - x? + 4.

X- X2+ 4 F x2 T IOTh AT & ?

(A)1 (B)O ©-1 (D) 2

28. (xty+2z)2=

29.V64 =

30. 0is a rational or irrational ?

0 IRAT F&AT § T 3ARAT ?

SCIENCE




31.

32.

33.

34.

35.

36.

37.

Non-metal which is a good conductor of electricity:

g S facgd T 3T Faros g 8-

(A) iodine (3TA8T)  (B) sulphur (Fe®)  (C) graphite (A®13€) (D) silicon (Rafereniet)
The atomic mass of chlorine is:

FANIST T GRATI] GHATT 8-

(A)17 ()35 (C)355 (D)34

The correct symbol of aluminium ions is:

ToIfATTH 3 T HET Hohl &

(A)AI"  (B)AI®  (C)AF (D) AI®

What is the molecular mass of NaCl ?

NaCl & 31uTfder geddATT gidT &-

(A)365u (B)53.5u (C)58.5u  (D)63u

Ribosomes synthesis 2

CIECIRSIE ] HT FWIYT Fd & |

(A) fats (I4T) (B) proteins (F<1aT)

(C) carbohydrates (FTefgT53cH) (D) vitamin (Rerf@e)
How many meters are there in 1 um ?

1 pym H fhdar m gl & 2

(A) 10° (B) 10”7 (C) 10° (D) 107

The symbol of potassium is:




qQrefIH &1 Jdieh &-

(A) Pt (B) K QP (D) Pm
38. Which formula is correct for work ?
S & TIT HieT a1 g7 30T § 2
(A) W = F/S (BYW=S/F  (C)W=FS (D) W = 1/FS
39. How many Watts are in one kilowatt ?
fohdel arc & 1 fohell are Slar §2
(A) 102 (B) 103 (C) 104 (D) 10°
40. Cause of ozone depletion is:
ST 9 & 7IETT HI HROT -
(A) CO; (B) O, (C) CFC (D) N,
GENERAL KNOWLEDGE

41. 9§ TATT SIgT HAGIAT INe o 1918 H FITAE TATT-

(A) @31 (B) IUROT (C) 3MgHSIETG

42.ma?ra:iﬁrao—cr§-§?

(A) 1789 (B) 1779 (C) 1870

43. @ MAAST TFHAT e g3 ?
(A) 1930 (B) 1931 (C) 1932

44, TIUTAGHT T TATS HETET diel AT ?

(D) #Hsi$

(D) 1850

(D) 1941

(A) SOl & (B) Afzaeric =gl (C) 3f Usig UdIe

6




45. el T foTah fohay gl ST & 2
(A) AHT I (B) IR I (C) HgTcAT el &r
46. HRA Hr 3fFF ToTEET 2-
(A) 75 feeel (B) Flerbral  (C) HFZ (D) ST
A47. gRAOM H oNhasT $1 fhdell dIc §
(A) 5 (B) 10 4 (D)9
48. gRIATOM T YUH J=ddTel AT-
(A) SeTA» Thadl (B) ¥HAR  (C) FEER wdG (D) U9 foiex &g
49. gRITUT & Gaifeh &a%hel drell forell &-
(A) 3i@Ter (B) fRaEl  (C) fREr (D) SETe

50. gRIATOT T @ HH FTAGEAT dTell ToTell 8-
(A) IFAER  (B) wOFaT  (C) Feae (D) Fad

Introduce yourself within 50 words.







